= AH O
N = 0l &F At 1 Nl A
2000 &= =20l A LB A
SN BRAYA
J:-IiH 6}_/'&_12 a|
o SteXelAE 2Y (&2 &)
- _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @,;OH Hns
SHEAY A 15,284,787 12,278,493 3,006,294
= 8,354,000
iy 6,930,787
olx=% 22| 12,352,590 9,546,668 2,805,922
= 6,439,000
o 5,913,590
F=XHelAlE &9 1,365,776 413,556 952,220
SESHO SHIAAMNEA 2 17,995 18,695 AT700
201 LErEAH| 695 695 0
01 AtR22ld] 695 695 0
< Ol=Hl > 0
o Ags P2Y 59,000 * 5 = 13 295
o & 7L 50,000 * 5% x 13| 250
o &g P 30,000 * 59 = 13 150
401 AIEHIZ 20| 17,000 5,000 12,000
01 Al&H] 17,000 5,000 12,000
o ddls HEYEHAEA 6,000
o HAb Y ZAIAF B 5,000,000 * 14! 5,000
o otrHMelAlE Z2lAb 22 Wi
1,000,000 * 4CH 4,000
o olEXMelAlE 2elAF S DA
2,000,000 * 1JH2 2,000
405 RKtaHFESHI 300 4,000 A3,700
01 AL EEFSHI 300 4,000 A 3,700
o FHAD| 300,000 * 1CH 300
et =Xd8d2 24 43,333 27,302 16,031
101 Q14| 13,833 11,602 2,231
10 JIZHZ22XNsSES 13,833 11,602 2,231
o T2H Z2AXH L &g
32,850 * 3% * 50! 4,928
o AMdzel ¥ F4 32,850 * 18 = 30&! 986
o &C|&e] 32,850 = 29 * 100 6,570
o 4 EEE 12,484,000 * 10.8% 1,349
206 M= HI 6,500 2,000 4,500
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SN BAAYA
Hy: G 22

©9l: Sl HAIL 2Y (S5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
EETI 6.500 2,000 4,500
o ZAVLURIIZUIZ - HEL M
600,000 * 5% 3,000
o ZFE RUF(UEURS 43)
20,000 * 5% = 2004 2,000
o AAFE BLAXHE BN
500,000 * 3% 1,500
401 AlEHI2 2 H| 20,000 3,700 6,300
01 AIZH] 20,000 13,700 6,300
o ZALRB2(HI LHS) 5,000
- ®y 700 * 5,000F 3,500
- oW 2 HIZ 500 * 3,000F 1,500
o BEMIN L EF4 e
5,000,000 * 23| 10,000
o REVCLN 22(FLB2 S)
5,000,000 * 13l 5,000
405 XHarE St 3,000 0 3,000
I EEEET] 3,000 0 3,000
o OIS 0FD 3,000,000 * 14| 3,000
®I|-AF - IIHEH 22 957,446 227,500 729,946
201 Yeregy) 6,632 8,200 A1,568
;2 ZzZ=ul 6,632 8,200 A1,568
<BTLILMA > 0
o H2II&Es orFBAX I
200,000 * 13| 200
o MAOIFBEIT} A13lY] 300,000 * 13| 300
o GHEMRINAE HIIQHHDD| (He442
486,000 * 122 5,832
o SIEEorERel Il 50,000 * 13| 50
o walENDS 3l 50,000 * 1l 50
o BN YHAME 200,000 * 13l 200
206 2l 3,600 3,600 0
EEETI 3,600 3,600 0
o JIM&H FelA W WE 40,000 * 405 1,600
o WEROHEE S 2,000
- YESIS, AEHED| S
1,000,000 * 14} 1,000
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SA
X XH .
(=

chel:

St=XelAld 292

- _ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol & 'Oﬁ/'\_;ou BlusSZ
- N3, BIOINY,ARIXIE S
50,000 * 2094 1,000
401 AEBIZ20HYI 947,214 215,700 731,514
01 Al&HI 947,214 215,700 731,514
o MIIHHIB (S0, MCCEH S) 8,500
- S0 Y MCCE S 5,000,000 * 14! 5,000
- M&Ed &l 3,500,000 * 14 3,500
o J|AH &Y &I 46,000
- 3| MABAHI(R.B.C) HHI(HHY S)
10,000,000 * 3CH 30,000
- FEXEX W] 6,000,000 = 1CH 6,000
- LU HEH(2H,2HAHE)
10,000,000 * 14 10,000
o RYXFX Y S =4
100,000 * 70m’ 7,000
o olEXelAlE o] 885,714
- AAEHEY 860,000,000 * 2.99/100 25,714
- A EXIAY 860,000,000 * 14! 860,000
=Z e 43,147 56,677 A 13,530
101 Q14| 2,622 2,532 90
10 JIZH2E2XNSE* 2,622 2,532 0
o ol . 2L EEEMA &Y
32,850 * 39 * 24 2,366
o AUl 8= 2,366,000 * 10.8% 256
201 BtEA| 1,765 2,885 A1,120
01 AtR2t2ld] 1,765 885 880
< dut=H| > 0
o otx=dE BAexE 250,000 * 43 1,000
< Ol=Hl > 0
o &Hgs 1Y 59,000 * 5% * 13 295
o & 7L 50,000 * 58 = 13 250
o AME 2 35,000 * 1Y * 23] 70
o &g 2L 30,000 * 59 = 13 150
206 = H| 24,760 25,760 A 1,000
01 MZHl 24,760 25,760 1,000
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S BAMYL
H: giaE 22

&2l St=XelAld 2Z (&2 &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
o MEAZ(HA 29F) 500,000 * 103l 5,000
o AEE =XIIF 6,920
- =3 500,000 * 24 1,000

- BODE 2l 65 1,000,000 » 23] 2,000
- IHECZICIHE A 160,000 = 12& 1,920
- Ag4d 200,000 » 12 = 28] 400
- BODAISI I BEd A EH
400,000 * 1 * 43 1,600
o YURE ASAS 180 * 4,000kg * 12& 8,640
o STNM(B2EsLR0IEB)
300 = 2,000¢ ~ 7& 4,200
401 AIEHIZ SR OHI 6,500 2,000 4,500
01 Al&HI 6,500 2,000 4,500
o SEASAE HHl B 2,000,000 = 14l 2,000

o AMEA I el (LFHOIHL 30T)

4,500,000 * 14! 4,500
405 XtatE SHI 7,500 23,500 A 16,000
01 I SESFHSHI 7,500 23,500 216,000
o Mt M2 4,000,000 * 14 4,000
o H=XD| 2,000,000 * 14 2,000
o g2 1,500,000 * 14l 1,500
BHII=ANE B 9,000 4,000 5,000
201 LEHRHH| 4,000 4,000 0
01 At22teld 3,000 3,000 0
< YEt=ZH| > 0
o gFIIZANE UEH E2= MA
1,000 * 3,0000HK 3,000
02 3323l 1,000 1,000 0
< A& ZHIS XYl > 0
o BHIANSHEANE ZHFXU(Z2HE2I6
E) 1,000,000 * 14l 1,000
401 AIEHIZ=20Y] 5,000 0 5,000
01 Al&HI 5,000 0 5,000
o BENEZZOHE AMES 4]
5,000,000 » 14| 5,000
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SA

3 A A

M ST 2
©9: SlaHelAlE 29 (crel: &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
=ML 29 22 65,968 54,082 11,886
201 pr2oy| 33,268 34,082 ~814
01 ARl 4,360 3,602 758
< Yy > 0
o STAAN 48 1,900
- BERAEAA 300,000 * 28l 600
- HESHEAM 1,300,000 * 18l 1,300
o IR ELE 205,000 * 122 2,460
02 Zz2| 28,908 30,480 A1,572
<ZTBIYHAM > 0
o BumelAa ®Ile3 28,908
-Je2g 6,000 * 250KN * 12 18,000
- NEB2 60.6 * 15,000k * 122 10,908
206 TR 9,400 10,000 600
01 Mz 9,400 10,000 2600
o BaMelAle M A4S
3,000 * 4kg * 3002 3,600
o D24 4,000 * 4kg * 3002 4,800
o PLCRIOI 25 1,000
- CPU S(YE3IE, asBE)| S)
1,000,000 * 14! 1,000
307 QI2tOIF 4,800 0 4,800
05 PIFSEr2 4,800 0 4,800
o 2LEXE sHell 600,000 * 83 4,800
401 NEHIYL=OY] 8,500 10,000 8,500
01 A& 18,500 10,000 8,500
o 2amMalAlL JIAFY 18,500
- BE2Hel A4 Fl
6,000,000 * 14! 6,000
-BIOE S A2 DA(HOZY,2LS)
8,000,000 * 14! 8,000
- BadelAle AL 105 T
4,500,000%14! 4,500
=X wel 38,200 25,300 12,900
201 Ypr2oy| 800 1,900 A 1,100
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SN BAAYA
Hy: G 22

©9l: Sl HAIL 2Y (Et9): & 2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o bRz
IEEET] 800 1,900 A1,100
<BTQIUMA > 0
o SN HBAN 242 200,000 * 43| 800
206 &Yl 3,600 3,600 0
01 Wzl 3,600 3,600 0
o 24898 3,600
- DERSEH 5,000 * 60kg * 122 3,600
307 2120l 20,000 9,000 11,000
05 oIAIES 20,000 9,000 11,000
o slazNMl FletHely
100,000 * 200 20,000
401 Al&HI L2 OHY| 13,800 0,800 3,000
01 Al&H] 13,800 10,800 3,000
o g4IIS NaRS 13,800
- SHNBI F 500,000 * 4Ck 2,000
- UBHEIH 0 DA 200,000 * 5CH 1,000
- GiZ R 3,000,000 * 2CH 6,000
- Al HOlZ R 2,000,000 * 14! 2,000
- 23| SHMDH 3,500 * 800kg 2,800
AAGETLHE 2gBe 190,687 0 190,687
101 eIty 4,015 0 4,015
10 JAHDEZNSES 4,015 0 4,015
o T2 31,730 * 10Z 43| 1,270
o HERY 31,730 * 208 * 43 2,539
o 4 282 1,905,000 * 10.8% 206
201 sy 170,715 0 170,715
01 ARl 29,863 0 29,863
< Ysragyl > 0
o TN, T-P ABZA 22
37,000 * 128 * 23] 888
o FIIGH AN HEELE
270,000 * 122 3,240
o =ADI EY 50,000 * 63l 300
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SN

3 A A

S Gt=& 22
Sl StaXelAld 29 A
(=] % o = = T I|_-|LI;=|_||:_ =
2N -3 - c2(3H) - NEME - HES AFoH Ol Ak O Hns
o D2IH &4 50,000 * 63 300
o Ty JIs 50,000 * 63 300
o HAZEE 2 20,000 * 23] 40
< Ol=dl > 0
o &gs P2Y 59,000 * 58 = 13 295
o &4 7L 50,000 * 59 = 13 250
o &g P2Y 30,000 * 5& = 13 150
< 2Y2Y > 0
o YA LG 50,000 = 19 = 482 24,100
02 =32&H| 140,852 140,852
< 33ILAA > 0
o StEXelAld Dot 122 130,632
-Jl2= 5,520 * 300kw * 12& 19,872
- AEE 71 * 130,000kw * 122 110,760
o olXelAlE Mol 22
880 = 20&€ =12& 212
o HMgla
3l 100,000 * 53|& = 128 6,000
o HHNG F
18,000 » 336 = 12& 648
o Yol M= NE=1=
40,000 * 78| & * 12& 3,360
206 FH=H| 7,117 7,117
01 MZHl 7,117 7,117
o xZAHC ® 50,000 * 10X CH 500
o g% 22 40,000 * 30 1,200
o ENMY0ls 570 * 100kg 57
o JtgACH & 2,100 = 100Kg 210
o ZIH 4E * 6,300 * 500KG 3,150
o M=+Y 2 90,000 * 20&8+A 1,800
o XZ&el I 7Y 200,000 * 13 200
307 OQI2t0l& 2,340 2,340
05 QIZIR[ES 2,340 2,340
o ROIAH| AMAE 2H2 195,000 * 12& 2,340
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SN BAAYA
Hy: G 22

SRl St=HelAld 29 (ctel s
_ _ - HEc
N33 . c2(3H) - NEME - HES AFoH loﬂ/i\_Fo” Hns
405 RAHA&HR SHI 6,500 0 6,500
01 T ESFHSHI 6,500 0 6,500
o Z2[J] P 1,500,000 * 1CH 1,500
o SAH| 7L 5,000,000 = 1CH 5,000
ot ¥ H =+ 22| 428,754 251,812 176,942
ot KRA22 A 154,033 68,335 85,698
101 2l | 1,311 1,267 44
10 JIZHZ22XANsSES 1,311 1,267 44
o AT LU HE HEZHH(9.7kn) OIL
32,850 * 69 * 6 1,183
o A0 B8z 1,183,000 * 10.8% 128
201 B2 9| 7,722 7,068 654
01 AtR22/d| 556 556 0
< Ol=dl > 0
o &Ags P2Y 59,000 * 48 = 13 236
o S&H P 50,000 * 49 = 13 200
o &g P 30,000 * 49 = 13 120
02 =32&H| 7,166 6,512 654
< BBIYLMA > 0
o Ol AHAE SHEZE 2342
35,670 * 2004 + 12& 857
o ot=E &3t 2,100,000 * 13| 2,100
o ol HAE SHBDE MIILS 4,209
-Jl2z 4,190 » 18kW « 12€ 906
- MEZ 643 * 4,300kW = 12& 3,303
401 AEBIZ20HYI 145,000 60,000 85,000
01 Al&bI 145,000 60,000 85,000
o ot R X2 AY 90,000
- ot =& (v=250m") 30,000,000 30,000
- ol HESFAHE S 250,000 * 4094 2 10,000
- &5t &l 10,000,000 * 5JH A 50,000
o ol RNREEHS MEEA
10,000,000 * 14 10,000
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S BAAYL
Mo GiaE B2
Sl SIS Y QS 22 R
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot HusZ
o G2 SBEFHI| &1
15,000,000 * 3742 45,000
ST AIZE 2B 12,756 10,620 2,136
201 Y] 4,656 6,120 A1,464
01 Atz 1,656 2,220 1564
< geragdl > 0
o G422 AFHEX L DN 7Y
66,000 * 42tA * 4% 1,056
o G423 FEE 7Y
50 * 1,0002 * 128 600
02 BT 3,000 3,900 A900
<ZTRIYLMA > 0
o SHAERIZDNMLS
250 * 1,00024 * 122 3,000
207 1Rl 3,600 0 3,600
02 Fabfeyl 3,600 0 3,600
o 4.545 R 2IT2IY Rz
600,000 * 674 2 3,600
401 Al&HIZ=CHYI 4,500 4,500 0
01 Al&H] 4,500 4,500 0
o SHAE ABERRI AIRAHEI| X %
CBS 45,000 * 10074 £ 4,500
OSSRl AlE RX22 182,358 121,425 60,933
101 Q1214 2,250 2,110 140
0 JIZH2ENSE+ 2,250 2,110 140
o OISGaM2AE MERY L HA
32,850 * 2% * 3144 2,037
o M2 EE 1,971,000 * 10.8% 213
201 2ereg| 61,082 59,449 1,633
01 At=R22[H] 417 1,377 960
< m=Hl > 0
o = Y 59,000 * 3% * 13 177
o SHH 7Y 50,000 * 3% *13] 150
o X3 P 30,000 * 3% * 13 9
02 BZESIH 60,665 58,072 2,593
<ZZQILHA > 0
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SN ERAYL
M ol E 2o
o9 St 2 QE S el (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
S OI2dtaxaAA @olea 53,945
-Jlz2 4,190 * 9N * 31IHA * 122 14,009
- AgE 58 * 1,850KN * 3102 « 122 39,916
o DISSH+HRIALE SERAME LA
=] 35,000 * 16744 * 122 6,720
206 &Y 1,966 766 1,200
IEL 1,966 766 1,200
o DISSHEHMRIAE +EAA H4Y
120,000 * 105 1,200
o DIZstEMeIAlL T2lA 2
30,640 * 255 766
401 Al&HI L= 117,060 58,400 58,660
01 Al&H] 117,060 58,400 58,660
o DI2atEHalAlL FIlayl Fyl
600,000 * 31744 18,600
o DISaHEM2IAIE JIHaY Zl
600,000 * 31744 18,600
o DISSH+HRIAE SER2AAY F|
7,000,000 * 141 * 244 14,000
o DISstEMeIAIE AT
16,000 * 10€ * 314 4,960
o DISSHEHRIAE RES =5 xY
2,100,000 * 54 10,500
o DIEst+HaIAL Sistae)
3,600,000 * 14742 50,400
BAEIE RX2e 24,256 16,665 7,591
201 L2yl 14,256 1,665 2,591
01 AFR22lt] 1,000 1,300 300
< yprgY > 0

o Hi+BHIZZ DAMI| HIBAsZ

1,000,000 1,000

02 =323l 13,256 10,365 2,891
< BE2SLHMA > 0
o Hi=8IZH 1 MRS 12,600
-JlEs 5,520 » 1,000kw » 38 * 0.5 8,280
- MNEE 72 * 12,000kw * 53 4,320
o Hi+=BIZE M MIIR= 634
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SN ERAYL
M ol E 2o
o9 St 2 QE S el (25l &2

- _ _ poE N
2N -3 - c2(3H) - NEME - HES AFoH @,;OH Hns
-Jles 5,320 * 1kw * 12& 64
-AIEZE 95 * 500kw * 12& 570
o HixEHIZ Mot=ER23
880 x 2& » 12& 22
401 Al&HIZL20HYI 10,000 5,000 5,000
01 Al&H] 10,000 5,000 5,000
o Hia+HIE RKX =& 5,000,000 * 23] 10,000
Ss3SHA QH+H2E 29 55,351 34,767 20,584
101 QI H| 2,185 2,111 74
10 JIZHHZ22NHSEs 2,185 2,111 74
o SEHsSZ2HUXQHAMHE & 1,972
- H=&g 32,850 * 2% * 10 657
- SHANEESHAEY
32,850 * 2% x 123 789
- AXEIHEY 32,850 * 2% * 83| 526
o JUEEZ 1,972,000 * 10.8% 213
201 B2 6,999 6,609 390
01 ArR2t2| | 512 632 A 120
< gt=d| > 0
o S=3CK SHANLEZHA
250,000 * 23] 500
o S3=3CHA DN €& FEE 2
50 = 20004 + 128 12
02 22224l 6,487 5,977 510
< BEQZ2YLHA > 0
o SEsS2HX DN s QERS
1,950 = 200HA = 12€ 468
o S=3HK QU+H2AE MIILS 5,729
-Jlez 4,610 * 17kW * 12€ 941
- A EE 60 * 6,650kW * 128 4,788
< HzHl > 0
o Sets2CA QH=HelE et
905 * 44 80 290
206 M=l 427 307 120
01 M2l 427 307 120
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S BAAMYL
Zu: s e
SHel: G4 E 2 QH 4 2l (Er9): &2
_ _ MNuE o
SH-EH . S2(30) - MRAY - BES Ofl & 04 0Ol At o8 Blms
o Sas3UA QH+HUE Pels &
g 30,640 * 105 307
o SHSTEX LEAM HLYTY
120,000 * 12fA 120
307 QI2t0IA 2,340 2,340 0
05 QItRIE =z 2,340 2,340 0
o SHSTLX LQWLHUE LAZUIA
Ae8 195,000 * 128 2,340
401 AlZHILLTHY 43,400 23,400 20,000
01 Al&HI 43,400 23,400 20,000
o SHSTEUX LQWLHUZ ALSHY|
9,200,000 * 22l 18,400
o SHSTOX HMABE Hy|
20,000,000 * 13 20,000
o S3=ZOX AT M
250,000 * 20 5,000
A IS 65,760 50,000 15,760
= 42,000
i 23,760
QEEYRIRINBHE OB 65,760 50,000 15,760
= 42,000
2 23,760
201 ZEH2IH] 5,760 0 5,760
01 AtR2teld] 5,760 0 5,760
< gpagll > 0

sy +ESZYENHYS) 2A
1

80,000 » 82 * 43 5,760

207 RN 60,000 50,000 10,000
= 42,000
z 18,000
TEEEEL] 60,000 50,000 10,000
o SEQAETH/IL| AN O|HEI} 8
o 60,000,000 * 14} 60,000
= 42,000
= 18,000
SR U SEELHelH AX 8,688,300 8,831,300 143,000
= 5,097,000
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FAMN: SEAEA
™ otk 2el
CHol: SIA U SIAETHAT &3 CLE-E)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Ot=2tH L St+=3 Xl &X = 3,591,300
& ot=2tH FHIAS 1,600,000 2,469,000 A 869,000
= 1,331,000
i 269,000
401 AIEHILROY| 1,600,000 2,469,000 A869,000
= 1,331,000
= 269,000
01 Al&HI 1,426,854 2,270,600 AB43,746
o ot=2ZtHEHIAE S AH] (10km)
1,426,854,000 1,426,854
= 1,331,000
i 95,854
02 Zeltl 167,346 189,000 A21,654
o St=ZtHEHIAIS Zeld] 167,346,000 167,346
03 AIZ=0HHI 5,800 9,400 A 3,600
o Gt=ZtHEHIAISAIE R 5,800,000 5,800
HAGH=ZSLHelAlE X 1,661,000 3,203,000 A 1,542,000
= 1,163,000
i 498,000
401 Al 4HI=20HYI 1,661,000 3,203,000 A 1,542,000
= 1,163,000
= 498,000
01 Al&HI 1,453,270 3,023,590 A 1,570,320
o AL XMEIAE EX3A
1,453,270,000 1,453,270
= 1,163,000
i 290,270
02 Zeltl 197,730 167,870 29,860
o MAt+=ZSLHIIAE EX3At
197,730,000 197,730
03 Al&Z=0Hd] 10,000 11,540 21,540
o MASIELXMIANLE HXZA
10,000,000 10,000
SS9 o= HHIAMS 1,006,300 1,006,300 0
401 Al&HIZ =204 1,006,300 1,006,300 0
01 Al&HI 1,000,000 1,000,000 0

- 567 -




SN BFAYA

b
M SiaE B2
CHel: Sl Y BISELHT HX (9 @
- _ _ ME
SN HA(S) - HRAY - BES oot Ofl At ot Hluse
o SEI5H ZHHI A (5.0kn)
1,000,000,000 * 14 1,000,000
03 A4 =0 6,300 6,300 0
o SHo=SEHHIMY =X 6,300
- SHol=EHHIAIY FEEN 2=
1,300,000 1,300
- SHIl=TSHHIAIY PRFAH
2,500,000 2,500
- SU AT HUANY BEZAY RS
ad 2,500,000 2,500
OtSot==XelAld & XA 3,189,000 2,153,000 1,036,000
= 2,230,000
= 959,000
401 AIEHIZ=20Y] 3,189,000 2,153,000 1,036,000
= 2,230,000
= 959,000
01 Al&Hl 3,177,520 2,139,900 1,037,620
o AN2S 36T HXAL (2, S5t
24) 1,511,539,000 1,511,539
= 1,061,000
s 450,539
o AN2ZIG+E NSAS(ME LA,
Hq 2K, x8) 1,665,981,000 1,665,981
= 1,169,000
[ia 496,981
03 AIZ=20HbI 11,480 13,100 A 1,620
o Al SSot=TEAAE FH
5,461,000 5,461
o A2 BEoteE HEAME =X
6,019,000 6,019
ddE M2 2FAot=2HEH| 700,000 0 700,000
401 AIEHIZSOHI 700,000 0 700,000
01 Al&HI 700,000 0 700,000
o M JHM2LT? ERAFSTHE
BIAIE JI=2 =& AIE A 700,000,000 * 14 700,000
& St=ZtAHE XA 532,000 0 532,000
= 373,000
= 159,000
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SN BEAIE A
M Sta& 22|
Ol BB U SIEEUHA™ HX CECR-E!
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
401 AlZHIZLE204Y] 532,000 0 532,000
= 373,000
iy 159,000
01 Al&H| 519,000 0 519,000
o AHGHESLUXE AL St=2H EXIA
A 519,000,000 * 1Al 519,000
= 373,000
= 146,000
02 Ze2lbl 10,000 0 10,000
o AHGIESLXE AL ShE=2H EXIA
A 10,000, 000 10,000
03 Al&20iY] 3,000 0 3,000
A=Y CIAIE St=201 XAt
A =X 3,000,000 3,000
=25 S3X2AIE 375,000 0 375,000
= 300,000
iy 75,000
s8R 22Hd2AlE EXAIY 375,000 0 375,000
= 300,000
iy 75,000
401 Al&EHILE204H] 375,000 0 375,000
= 300,000
iy 75,000
01 Al&H] 375,000 0 375,000
o IIEELxS3HEAE &X
375,000,000 * 1A 375,000
= 300,000
= 75,000
Ha=3ZSYLX2lAE XA 1,429,000 0 1,429,000
= 1,000,000
iy 429,000
SN As3HA QE+H2& &X 1,429,000 0 1,429,000
= 1,000,000
iy 429,000
401 AlZHIZLE204b] 1,429,000 0 1,429,000
= 1,000,000
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CEEAIE A
Cote=E 22l

D HsSZHelAE EXAY

_ _ _ Muo
SN EB -GS - MBAY - BES o e HRE2
401 Al HIZ=2OY| i 429,000
01 Al&HI 1,402,100 0 1,402,100
o SN N=s3HA QE=XelE &X
1,402,100,000 * 14l 1,402,100
= 1,000,000
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